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Example Candidate Responses — Paper 2

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge AS & A Level Psychology 9990,
and to show how different levels of candidates’ performance (high, middle and low) relate to the subject’s curriculum
and assessment objectives.

In this booklet candidate responses have been chosen from June 2018 scripts to exemplify a range of answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are:

June 2018 Question Paper 21

June 2018 Paper 21 Mark Scheme

Past exam resources and other teacher support materials are available on the School Support Hub:

www.cambridgeinternational.org/support

Cambridge International AS & A Level Psychology 9990 4
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Example Candidate Responses — Paper 2

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response - high Examiner comments

Section A @ The wording of this particular
question means that just
Answer all questions in this section. answering ‘independent’ is correct.

Beware, however, because

‘independent’ means different

1 Inthe study by Canli et al. (brain scans and emotions), one variable was investigated by comparing things in different contexts in
neutral and negative scenes. psychology, so it is good practice

. to use the whole term.

(a) Is this an independ r a dependent variable? Include a reason for your answer.

w . e e Neither the concept that the
NN U AR AT S O /N SO L. 0 10 AR 2 00 x VIR B SO /N e A OO R O VR e S A indanandant variohln ie chonaod

al N

S '”"Yﬁ R R RO ‘ Examiner comments are
N\ alongside the answers. These |-

Answers are by real candidates in exam conditions. explain where and why marks
These show you the types of answers for each level. were awarded. This helps you
Discuss and analyse the answers with your learners in to interpret the standard of
the classroom to improve their skills. Cambridge exams so you can

help your learners to refine

their exam technique.

\_ /

How the candidate could have improved their answer

» Although both parts of this answer earned full marks, it would be good practice to get into the habit of always
specifying ‘independent variable’, as using just a single word could be insufficient in response to other questions.
Note that an ‘independent measures design’ would be another case where a single word answer of ‘independent’
may not be adequate.

» Operationalisation is a concept that often leads to confusion. The simplest way to answer such as question would
be to think ‘How could | manipulate (or measure) this in practice?’, then write a description.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

In part (a) a common mistake was to give the dependent variable in place of the independent variable. The difference
between these two variables is simply one of giving them the right names. One way to remember which is which is to
think ‘What is the researcher INvestigating?’ this is their INdependent variable. The dependent variable is exactly what
it says, changes in this variable depend on, i.e. are caused by, the manipulation of the independent variable.

Often candidates were not awarded Lists the common mistakes candidates made
marks because they misread or in answering each question. This will help your
misinterpreted the questions. learners to avoid these mistakes and give them

the best chance of achieving the available marks.

5 Cambridge International AS & A Level Psychology 9990



Example Candidate Responses — Paper 2

Question 1

Example Candidate Response — high Examiner comments

Section A
Answer all questions in this section.
In the study by Canli et al. (brain scans and emotions), one variable was investigated by comparing
neutral and negative scenes.
(adm Is this an independent.or a dependent variable? Include a reason for your answer.
e DA DD X SRA NG B S . DOYITAL... deywvee

SRCTR - RS NI LA AR L AT S

{b) Outline how Canli et al. operationalised this variable.

TR Yo L AL FRENGS... 0. S OMPMLL o th ... MYl 0

YAV SLED N S,

ﬂ The wording of this particular
question means that just
answering ‘independent’ is correct.
Note, however, ‘independent’ has
different meanings in different
contexts in psychology, so it is
good practice to use the whole
term.

e Neither the concept that
the independent variable is
changed by the experimenter,
nor that the two conditions within
the experiment are ‘neutral’
and ‘normal’, are sufficiently
explained individually in this
answer. However, together they
make it clear that the concept is
understood.
Mark for (a) = 1 out of 1

e This is an unusual answer as
it does not simply define what
is meant by being emotionally
‘negative’ or ‘neutral’. Instead, it
makes appropriate reference to
the way that the operationalisation
was achieved through the original
valence ratings.
Mark for (b) = 1 out of 1

Total mark awarded =
2 out of 2

How the candidate could have improved their answer

Common mistakes candidates made in this question

In part (a) a common mistake was to give the dependent variable in place of the independent variable. One way to
remember which is which, is to think ‘What is the researcher INvestigating?’ this is their INdependent variable. The
dependent variable is exactly what it says, changes in this variable depend on, i.e. are caused by, the manipulation of
the independent variable.

Cambridge International AS & A Level Psychology 9990 6
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Example Candidate Responses — Paper 2

Question 2

Example Candidate Response — high Examiner comments

2

The study by Saavedra and Silverman.investigated a boy with a phobia of buttons.
(a) Identify the research method used in this study.

............. Cawgwujo

(b) Suggest one advantage of the resesdrch method in this study.

Dt 004, .t 500, Yondlinnd.. ... 1. c6l\ooTng...
WEWMMW&IMTWM?W&;w%TMWMR Aitle
Vhe ome=ta, OnaL, vlfm?byobio. 9> Wﬂ,_agw{ colle g, v, 7no{v17w Ala

%WVMTMWMWM@N{WWWMMWVMV{}@ ............... 2]

ﬂ This is the only possible correct
answer.
Mark for (a) = 1 out of 1

e The first sentence earns 1
mark.

e Neither of the two sentences
that follow would be creditworthy
on their own. But together they
make the point that this level
of depth about the onset of
the phobia is allowed for the
behaviour to be understood,

i.e. the answer is linked to the
context, which is required for the
second mark.

Mark for (b) = 2 out of 2

Total mark awarded =
3 outof3

How the candidate could have improved their answer

The candidate’s answer earned full marks, however, the need for both of the sentences at the end of (b) illustrates
how easy it is to make a relevant comment that is not linked to the study.

Common mistakes candidates made in this question

(a) Giving more than one answer. When a question asks for an identification of a term, it is essential that only one
answer is given. If this candidate had written ‘an experiment’ and then ‘case study’ only their first answer would have
been considered, so they would not have earned the mark.

7 Cambridge International AS & A Level Psychology 9990



Example Candidate Responses — Paper 2

Question 3

Example Candidate Response — high Examiner comments

3 Many of the core studies were laboratory experiments.

(a) Explain two similarities between a laboratory. experiment arid. a field experimient, using any
core studies as examples.

. i< +ed He,
experimert,  uestiannaires. CFH) in Laneyd shudy was. cnbolled .............gue.s:cl‘:%?mcces.~ o

2.5205ists ol —om

paThapmds
Proceduces are srandavdesed in bothanditions.  suchas. in

Lonest study

Chelpy? N A specificheeafier
Ta.pil l.&x.m‘ns..msixc..mﬁe.z!me...mtl.l.sz:eﬁeﬁ.mlp.te..zfgﬁmxaﬂﬁg..%ﬁ...........,...‘...... 141

4['18 vigdrm has Pq“t’ﬂ. . . .
(b) Explain one difference between a laboratory experiment and a field experiment, using any
core study as an example.

S0 atabouatony expeivari, dhee. wee bigh, contrels. o e xbensoss veriahias.  sudh. ...

desen :
u_ﬁi%-m contol in the study by Pl rav.ia. 21

ﬂ This sentence earns the first
mark for the generic similarity.

9 The candidate then goes on to
give an illustration of their point
about controls, using Piliavin
et al. as an example of a field
experiment to show that they can
be controlled and valid, just as
laboratory studies can.

e The second point, however,
is an extension of the first
(as this gave an example of
standardisation, which was
credited), so this idea cannot earn
further credit.
Mark for (a) = 2 out of 4

o The candidate applies the
reverse argument, and earns
credit. Their example illustrates a
good comparison as the examples
are both contextualised to the
studies mentioned.

Mark for (b) = 2 out of 2

Total mark awarded =
4 out of 6

How the candidate could have improved their answer

(a) The candidate needed another, different, similarity. They missed the two most obvious ones, that both types of
experiment have an independent variable and both have a dependent variable. Either of these ideas should then have
been illustrated with an example, as the candidate had done with the first similarity.

Common mistakes candidates made in this question

(a) Giving specific examples of experiments which happened to be similar in some way that was unrelated to both
experiments. For example, to give two studies and say they both used volunteer samples or used many participants.
This is not a way in which all laboratory and field experiments are similar. Another common mistake was to answer
the question correctly in generic terms but then to use Milgram as an example of a laboratory experiment. Since the

original Milgram study had no independent variable, it was not an experiment.

(b) Using Milgram as an example. Candidates should understand the key features of each research method which
includes in the case of experiments having an independent as well as a dependent variable.

Cambridge International AS & A Level Psychology 9990 8



Example Candidate Responses — Paper 2

Question 4

Example Candidate Response — high Examiner comments

| (1] Iniciola _
fndowd ool mepaumen Y00 vaulonck oxmand fRe N&M[L%gﬁ © Appropriate use of the term and
OU@ARG. Thd) oA e s e tod to the mean.
Total mark awarded =
2 2 out of 2

How the candidate could have improved their answer

This candidate gave an answer that differed from the mark scheme, using the term variance to indicate the idea of
spread, which was perfectly acceptable and gave this in reference to the mean, earning full marks. However, they then
continued their answer to describe how the standard deviation is interpreted. This was not required by the question
and whilst answering in full is always advised, this was not relevant to the question being asked, so the time spent on

it would have been better used elsewhere on the paper.

9 Cambridge International AS & A Level Psychology 9990



Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner comments

4  What does standard dev;aﬁ:;measure” a The candidate scores a mark
]Z - ]& with their first sentence.
..... S%anfﬂfml / INALLEALIA... z L... QA/,Z/LEOZ/ 5{.)’ ’
CLAn.. LA .. L0 J}[ Vb, A, jzfm m/[ 100 mmn Total mark awarded =
G V..M O ML . 1 out of 2
.................................................................................. [2]

How the candidate could have improved their answer

Although what the candidate wrote in their second sentence was correct in itself, it did not answer the question. They
needed to explain what it is that the standard deviation measures that the range does not, i.e. that it considers the
average difference between each point and the mean (rather than just considering the two extremities).

Cambridge International AS & A Level Psychology 9990 10



Example Candidate Responses — Paper 2

Example Candidate Response — low Examiner comments

4  What does standard deviation measure?

Sondord donakion. yneasures. o S, of. cerea
Lendencs) et e, onacicin, or n0de. TX Shows, | @ This response is imelevant

---------- Total mark awarded =
................. 21 | Ooutof2

How the candidate could have improved their answer

The candidate knew a little about descriptive statistics but was unable to recall the correct information. T

Common mistakes candidates made in this question

Like the candidate above, many made attempts to answer the question that contained some correct but irrelevant
information. Descriptive statistics such as the mean, median, mode, range and standard deviation are typically all
taught at the same time. For some candidates, this is a lot of new terms and mathematical concepts together and they
may need help and/or practice to consolidate their knowledge such as the suggestions above.

11 Cambridge International AS & A Level Psychology 9990



Example Candidate Responses — Paper 2

Question 5

Example Candidate Response — high Examiner comments

5 Fromthe study by Laney et al. (false memory):

(a) Identify:one ethical guideline that was foliowed in this study. o 0 Debriefing is one of the

Hacticlponl? pore guen o olebricting where he tve inontions of the possible correct answers.

| R Pertd U W e AT Mark for (a) = 1 out of 1

(b) Outline how this ethical guideline was followed in this study.

Abrer the eperiment 008 finlshed grol folse memories hadbeengonerated, @ This answer links to them being

pocticlponts pare rold pows the seky actvally ;‘mjcsH}q{-az( Alse mzmonry i told the truth about the studyz i.e.
' that they were told the real aim

(c) State why this ethical guideline was important in this study. was to study false memories.

Mark for (b) = 1 out of 1
......... Mark for (C) =1 out of 1

Total mark awarded =
3 outof3

How the candidate could have improved their answer

(a) This candidate could have saved themselves time by simply answering the question and identifying a guideline.
The word ‘debriefing’ alone would have been sufficient. This would have given them the opportunity, for example, to
add valuable detail to longer answers (such as questions 6 or 10).

(c) The answer was only just adequate. It would have been improved by indicating why having false memories had the
potential to do psychological damage and therefore clearly explaining why debriefing was important.

Cambridge International AS & A Level Psychology 9990 12



Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner comments

5  From the study by Laney et al. (false memory):

{a) Identify one,ethical g;//?;ehne that was foIIovyd in‘this study

lesed..( M%

f;ww

{b) Outline Zgz;thxs ethal guid
3?,%& wﬂmv oé 4

line was follovii? in this study

HADL

QD /
ZEXL/JJ.’: ..... m&maq&..

anf./%

) ................. 1]

ks

0 This is correct.
Mark for (a) = 1 out of 1

9 This adequately contextualises
the answer.
Mark for (b) = 1 out of 1

e This is correct but does not link
the idea to the study.

{c) State why this ethical guideline was;lfnportant in this study.
Mark for (c) = 0 out of 1

T e A e
fgjﬁ} .

A

Total mark awarded =
2 outof 3

How the candidate could have improved their answer

(a) This candidate wrote a little more than what was required for the mark; either half of their answer would have
been sufficient. However, it is sometimes useful for candidates to do this ‘extension’ for themselves to ensure they
are answering the question. For example, starting a question asking for ‘strengths’ may well be easier if the candidate
begins their response with ‘A strength of...".

(c) The response only described the reason why the guideline of debriefing was important in any study. To earn credit
the response needed to refer to why this was necessary in this study. The candidate should have explained why the
participants need to be debriefed following the particular procedure of inducing false memories about asparagus.

13 Cambridge International AS & A Level Psychology 9990
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Example Candidate Response — low Examiner comments

5  From the study by Laney et al. (false memory): :

(a) Identify one ethical guideline that was followed in this study. 0 This is incorrect.

*NW&EQ&MNQ@*W%N@ H/"L 5+Ud'\( (1] | Markfor (a) =0 out of 1
(b) Ouggné how this ethical guideline was foliowed in this study. e The candidate should have

‘\ N\RWVCNGD&AGT%&‘N%WM 2] ‘ . | identified what was said in the
: debriefing.
...................... - w1 | Mark for (b) = 0 out of 1

(c). State why this ethical guidaline was important in this study.

% hecent ot ,\{/&j‘m ain ok ]%L B—{:(J(L\, @ The question asks why and the
o

R ) 9 candidate should have explained
et r st b st e et . [11 | what it means to fail to debrief.
Mark for (c) = 0 out of 1

Total mark awarded =
0 out of 3

How the candidate could have improved their answer

This candidate had some knowledge of ethical guidelines, being able to name one, and had knowledge of what that
guideline required. However, they had misread the question so gained no credit for their knowledge.

(a) Debriefing was ‘followed’ rather than ‘not followed’ (as the candidate claimed).
(b) The candidate needed to identify what would have been said to participants in a debrief in the Laney et al. study.

(c) The candidate again misunderstood, explaining what it means to fail to debrief rather than giving a reason why it
would be important to debrief participants in a study about false memories. Therefore their answer needed to be both
more accurate and made relevant to the study in the question.

Common mistakes candidates made in this question
Giving generic answers in parts (b) and (c).

Candidates should respond to ‘in this study’ and similar cues in questions that indicate the requirement to link their
answer to a specific example.

Cambridge International AS & A Level Psychology 9990 14
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Question 6

Example Candidate Response — high Examiner comments

6  Describe'what-is meant by ‘order effects’, using any examples. ﬂ This answer contains many

Owiuvfrmmm;&wywmm{m@wwd@ngwa useful points, each eaming credit

N 3 o ; 1 i For example that order effects
“ndividuale. here, Diaced..n V‘I[‘[Mm‘&}w&i‘v ?rlf JM@@A?.(@%T vmﬂ%?% occur in repeated measures

o Aol i, ar. S, kb con nlrstned. ke Al ruiy, | 90Sions and fhat they arise

Y TN . N from fatigue/tiredness or from
o ey Iy howe, Tt ‘""I‘WWA bahavigy b dem P nlf ot improvements due to familiarity.

i . -~
o rotural Rohobowdt . ke called ‘or U T Ya =l g Finally, 1 mark for the definition,
i, poholionts M mﬂa! ﬂé?/f@ﬁeﬁb ....... T Ywm‘mem(g, e that arder offsots ariss
WWWM%M&WMWWM{W&WWP?WWW\ - O Seel. Gondegon,... because of repetition, so are not
il oo, e \on oo i, o, AL ... | "I boRavoUTS’

W-ffﬁvfﬁ/s o g Total mark awarded =
5 out of 6

[6]

How the candidate could have improved their answer

This is a well-informed answer. The response could have had a second example. In response to ‘any example’
candidates usually chose a core study but they did not have to; any other study could be used to illustrate the point as
could any example of a possible study the candidate invented that adequately illustrated the point being made.

15 Cambridge International AS & A Level Psychology 9990
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Example Candidate Response — middle Examiner comments

6 Describe what is. meant by ‘order &ffects’, usihg any examples.

010 SRS S s SAF LA O N oo VELILDLE . 2000 0 FOE OFARE... aThe candidate starts well with

RSO0 T8 000 3 SO V0 0 Y0 0 X OO L YO = R 2 V0.0 SO 3 I RN A L f[he deflnltlor] of prder effe(:.ts,. then
- illustrates this with a description
LChADY L Y S YL B om...,. BOF... £ 4 DYSE g S B arnder n of boredom. Fina”y, they indicate

LERCLE AL p AL p a0 J0.  FACOYY .. SO, DY LONDikand. i 9L why experlmepts using a repeated
measures design are vulnerable
PXLEOY oo WA Y S G G000 ML B COTE M BQ0k ¥ to order effects.
e

SEUY s T G LU YEE e YOS QLI B AL B0 I

Total mark awarded =

RTINS L MY IR LE I 0 AL i B LT L DI L0,
3 out of 6

CLLLCES g B IDL Y AL G LAY SDLOYG N o ... LONMEILEL,. INOLE

LA OB TS SR LIS 0Lt h B OF. dt.onud

ChL Ll LML AL f S BB Mot A Y L LR O SO AGE 1AL LK 16]

How the candidate could have improved their answer

This candidate had a description of the relevant effects of boredom, but did not identify these as a ‘fatigue effect’.
Their final comment about demand characteristics did apply to repeated measures designs but was independent of
order effects, so was not relevant. Instead, they could have elaborated on the problem of repeated measures and the
idea of how practice or fatigue could have had an effect and given some examples.

Cambridge International AS & A Level Psychology 9990 16
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Example Candidate Response — low

6 Describe what is meant by ‘order effects’, using any examples.

et deoc. ok 15....m\m....gmhcjm\a.....5¥m&....§.-..ss,\spm¥i0%.....nhcz\.&.‘c..a

RN VI WP PPN YL T W= S0 7% WU S SRS TR W
B EVE T SN S ST A WO SR\ NG IRV 12 CPPL AP0 D At SNE PP VY2 T
mmn@hs&@,mhr\gmmd\nmmxshu@&sﬁ%mnm

\.r-‘““"g“%*y\c \ao Maviowr
un&&hﬁ%@&s&.hﬁowm&i&%QthMyg.

Examiner comments

ﬂ The first sentence confounds
the response to demand
characteristics and order effects.
In the example, however, they
effectively describe what the
problem of order effects would be
if the study by Bandura et al. had
been conducted using a repeated
measures design, which earns
credit.

Total mark awarded =
1 out of 6

How the candidate could have improved their answer

This candidate needed a clearer understanding of the difference between demand characteristics (the features of a
study that hint to the participants the aim being explored) and order effects. The candidate gave one creative example
illustrating their understanding, but they should have given a second example, as the question specifically asked for

examples in the plural.

Common mistakes candidates made in this question

Many candidates could have earned more marks by including one or two examples. Some responses demonstrating
otherwise excellent understanding were unable to earn full credit as they had no examples at all. Candidates should
be reminded that when asked for ‘any examples’ they should choose a core study, any other study or invent an

example of a possible study that adequately illustrates their point.
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Example Candidate Responses — Paper 2

Question 7

Example Candidate Response — high Examiner comments

Section B

Answer all questions in this.section.

7 Kaleem is planning to investigate sleep and dreaming. He needs to find participants.

(a) Outline one sampling-technique that Kaleem could use to find a representative sample.

................................. Kﬂ[“ﬂ\w”\(ﬂ%ﬁ‘bwor’\ 0 An appropriate technique is
....... Sd\ﬁﬂﬂ")\?r‘f}v\l Mo 6«%['44/}: i5...00 an a !dentif_ied’ ea_ming 1 mark, and this
4 I is outlined with a comment about
...... LY 6.‘/)‘—.(:';/ et ,E.Vm{f@l/%/ ([%CC—fnP lu[jsf/)\(,‘é, everyone having an equa| chance
JSoody B coalg.. Bl gE2Y ol geseoTaebh ... of participation.
Skndly, voal le. 5 2eoetslipmPh. .. @ | Mark for (a) = 2 out of 2
(b} Suggest two features of the participants that Kaleem should consider to make: his sample
representative.
1ﬂmf lrl“l“/)ﬂ.mtlf b L‘OV‘M LY\VL ...... ﬁtrﬁf.lﬂo.ﬁ .................................
.......... sg{%ﬁfCl-&V{h/@S . e
7Y - Two features are correctly
I 4. by 7 s rr e 2 PO 4 KA 0 o w3 Mgw ..... e ......... identified (a range of different

......... obe.. Eh i POt Shold A aez] | SI€€P SChedUles and age).

Mark for (b) = 2 out of 2

(c) Explain why one of the features you suggested in part (b) would be important in Kaleem’s
study. ’

T agc and @d/\ﬂllf&(jltﬁwfhtl‘{lw\lf .........
cloonld Lo rmiitd g o sl scledulead..

(5

[\ow/bﬁ, baons ‘ﬂP{}LQPLQANmWN(/M}M’{,o ...........
.......... o, b bk e e b gode Pbh actipentr,..m | € This response makes one

creditworthy point about one
feature (age).
Mark for (c) = 1 out of 2

Total mark awarded =
5out of 6

How the candidate could have improved their answer

(a) This answer was one of the two ways to achieve full marks. Alternatively, the candidate could have described
how a random sample could have been obtained. Note that this question part did not need contextualising and this
candidate did not do so.

(b) The candidate gave a simple answer and one that made answering part (c) easy.

(c) The question clearly stated ‘one of the features suggested in part (b)’, but this candidate referred to both age and
sleep cycle, plus they introduced a third factor (gender). This response would have been better if it had focused on
one of these, sleep cycles or age, and made a detailed comment about its relevance to this study.
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Example Candidate Response — middle Examiner comments

Section B

Answer all questions in this.section. -

7 Kaleem is planning to investigate sleep-and dreaming. He needs to find participants.
(a) Outline one sampling technique that Kaleem coitd use-to find a representative sample.

L. 0o ndemingrselesds. .. &Smmpopwpu\,

Wiv.oX @“ﬁ’o nv%h%%%\n.éwq;
...... dec(:&p%ﬁtam\ C Wineans 0«\0 Assovdlars

i nsomni e G 2]

(b) Suggest two_features of the participants that Kaleem should' consider to make his sample
representative.

T MMMI%%OMW
YAV T RN 17Z o=V O B W78 =18 Kt < © N A

J
2o I%MW@\MQMSWW .....
N J be Gure

Qs a,;p o 6\{4&»{‘& [2]

{c) Explain why_one of the features you suggested in part (b) would be important in Kaleem'’s

study.

M\ngm‘gmrmmavar WSszlnje
onore

"L’/J/LS\ 2

a "He can randomly select’
earns a mark for identifying a
suitable representative sampling
technique.

Mark for (a) = 1 out of 2

e Although gender and age are
possible variables, these are
expressed as reducing rather
than achieving a representative
sample.

Mark for (b) = 0 out of 2

e The idea of a link between
sleep in teens and hormones is
identified, but no attempt is made
at explanation.

Mark for (¢) = 1 out of 2

Total mark awarded =
2 out of 6

How the candidate could have improved their answer

(a) Although this candidate earned the identification mark for random sampling, they did not then follow up with an
outline of what this was or how it was conducted, so they needed to fully follow the command word in the question.

(b) The candidate expressed their answer in such a way as to make the sample less representative rather than more,
by restricting genders and age. In fact, they clearly stated this in ‘1’ by adding that this would ‘eliminate any sex-
related variability’. The question only asked for the two features themselves, so sticking to ‘gender’ and ‘age’ could

have earned the marks.

(c) The response to this question part started well. The candidate needed to explore this idea a little further,
suggesting how changing hormones could be linked to sleep rather than just stating ‘imbalanced hormones’ as an

isolated fact.
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Example Candidate Response — low

Section'B

‘Answer all-questions in this-section.

7 Kaleem is planning to investigate sleep and dreaming. He needs-to find participants.,

(a) Outline one sampling techniq at Kaleem could use to-find:a répresentative:sample.

D60 Nowneer Sompe. Boea... 0wk nsawn

(B) Suggest two features .of the participants thatKaleem-should corisider to-make his sample

.. representative.
il

1. NG YOre. of..age.

2“503\\‘\\)) PEER

(¢} Explain why one of the features you‘suggested in part (b) would be important in Kaleem’s
study. .

B... 0o Yoroe 08 oues. .. gorany. 2. LORE gt
Ve sovpe. \b. Xtpresened e ol—\*«xagemm\

Examiner comments

ﬂ A volunteer sample is not very
representative, so is incorrect.
Mark for (a) = 0 out of 2

e ‘'Wide range of age’ is an
important variable so earns
credit. However, to study only
healthy people would be biased; a
representative sample should be
more diverse.
Mark for (b) = 1 out of 2

e This response repeats the
information in part (b) of the
question, rather than indicating
why a wide range of ages
would make the sample more
representative.

Mark for (c) = 0 out of 2

Total mark awarded =
1 out of 6

How the candidate could have improved their answer

(a) Although this candidate was aware of at least one sampling technique, they needed a clearer understanding of
which techniques were more representative of the population. This was a common misunderstanding as ‘random’ was
used in everyday speech in a non-specific way. Candidates need to understand the real meaning of ‘random’ before

they can grasp what makes a sample representative.

(b) The candidate needed to give features e.g. ‘age’ and ‘health’. In the case of a ‘wide range of ages’ their answer
was acceptable, but by saying ‘healthy people’ they made the sample less rather than more representative.

(c) Here the candidate was on the right lines with having a wide age range but needed to explain why age might
matter to the variable being considered in this study, i.e. sleep. This application to novel contexts is a requirement
throughout the syllabus, so candidates need plenty of practice with examples of situations they have not previously

encountered.

Common mistakes candidates made in this question

(a) Suggesting a non-representative sampling technique; most often volunteer sampling.
(b) Making suggestion of narrow groups that would make the sample less representative rather than giving the feature

which needed to be considered.

(c) Not making reference to the objective of the study (about sleep) in explaining the importance of their suggested

feature.
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Example Candidate Responses — Paper 2

Question 8

Example Candidate Response — high Examiner comments

8 Penny is using cats.and parrots in her experiment. Penny houses each animal alone and only: o The way to operationalise is
gives them their daily food every evening. Her independent variable is the species. She thinks identified (counting the number of
that parrots will share food because they are.social animals whereas cats live on their own. To test o
this, two animals of the same species are put together with a smali bowl of food every afternoon. fO_Od pellets) and detail is added

with reference to the camera.

(a) Penny’s dependent variable is whether the.animals-share-the food. Mark for (a) = 2 out of 2

'Suggest‘ how she could operationalise this dependent variable.
e e This makes an elaborate point
o S N ................... PP B 20t o AR 1T 1 ST e A R about the discomfort eXperienCed
,pomkms of: %%Le&.«m«lsrzl« Jv%kebaw!cm ................. by different species of animals

, ) o and why; because they prefer to
CQUF“L"j ')LL% hwnaber D’F fosod\. p&!)‘eﬂé‘aq—‘h LJ mc(z Q(.\.zm.e}...... eat at different times or throughout

#.Tha useof e camere. bovld. help FhisFash .z | theday.
Mark for (b) = 2 out of 2

(b) Explain why the timing for. the animals’ daily-feed is a potential ethical issue..

........ > %rn%&h‘el; fany ke et l\onsg ‘H\M D'HWS eThis response is not answering

; 1 L < the question and is, in fact,

0 King... thern.. near ficksble “he“!” e o"““""‘*b"' """ arguing that the housing of cats
pmr&;%uxﬁc\-‘ép-ﬁ\u ...... mzf‘of ....... b.mys.é ..... VAneel4~w ........... was less ethical than that of the
‘H'v_ q\a,u S | : | ’ @l parrots.

Mark for (c) = 0 out of 1

(c) Explaln why the housmg of the parrots was Iess ethlcal than the housing of the cats.
Cofs Eadyict.mers.. Lidng.. spac... ‘Hwepem'/*w:/e ...... O The first point inappropriately
roamn uses the term ‘experimenter

st tevnd. and. be comfactablo. . . ... : 11 effect’, but the idea is clear

regardless (that Penny affects

the animal’s behaviour as she is

Suggest why she chose fo be a covert observer in. het study. their usual provider of food). The
She choss ‘/\; R . H\wl e justification that follows is worth

" 2 further marks for indicating that

ﬁ#manimq.’f‘elaeo\pmfﬁm—u:-lupvm%ﬁf sffskn this ensures the animals only

. ) od T interact with each other (and
23..0aany...is the...usval provices. o Fosdl. This *“M”q@é not Penny) and that this would

(d) 'Pennyhas decided that she will be a covert observer. -

#\od‘%&&h mals onlg...mrf:emm[ with..2ach ehber o rof.... otherwise affect their feeding
; . behaviour and thus their sharing.
: ‘ )
T f)zmy @ she d..tail) &{:—Q(,?lt\f’m}'t&‘?-hfhdf ..... Mark for (d) = 3 out of 3
Shace  Rad. b wih cach sthers o 3]
(e} Wirite an operationarlis'ed non—directional (two-tailed) hypothesis for Penny's experiment. e This is a two-tailed hypothesis

L M \Roros n L e and both the IV (cats /parrots) and
............................. wCherent.... 3 emeﬁge;&r\o\ f.Sredd a0k, the DV (number of food pellets)
placed. ol owrvz«/m'f Fhe2ams. spedes. in font.of. e Small.. | are operationalised.

sl . ey s, At dhocs. sl lbe. it i tbe.. Mark for (€) = 2 out of 2

numbes.of. To0d pellots. skwe\lve'fwun*&mﬁr”’m” 2] | Total mark awarded =
9 out of 10

How the candidate could have improved their answer

(c) The candidate needed to read the question carefully to ensure that they were answering the question.

(d) The candidate used the term ‘experimenter effect’ incorrectly. This term does not feature on the syllabus precisely
because it is so easy to misunderstand.
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Example Candidate Response — middle Examiner comments

8 Penny is using cats and parrots in her experiment. Penny houses each animal alone and only
gives them their daily food every evening. Her independent variable is the species. She thinks
that parrots will share food because they are social-animals whereas cats live on theif own. To test
this, two animals of the same species are put together with a small bow! of foad every afternoon.

(a) Penny's dependent variable is whether the animals share:the food.

Suggest how she could operationalise this dependent variable.

M, D Ree eomes oo fle cad— el M()&rmk—

...................Q/ X W...... \A........‘s.... L Sr i e rerenn. P —
~J
..SZ‘.L ( M C\l‘to( ....Of.... i 5 l’( cerenens .
} e

(b) Explain why the timing for the animals’ daily feed is a potential ethical issue.

Tae eedads e

ondl cof only euey emaday  lis wwodd
e o iy
loe eShedaing Qe cudends
~J
oncd o epdiel  {Esve.

2]

(c) Explain why the housing of the parrots was less ethical than the housing of the cats.

........... vsolly bopt i cogcs @)

T
ol ek g Ry el uaéaa— not oo asturd eidioneact

4o MNest.
(d) Penny has decided that she will be a covert observer.

Qc{rm“'s v

1

Suggest why she chose to be a covert observer in.her study.
A covest  obsamer an obguer  Pb e

~
Ala¥

povhapedy | oren't

3\~L ()ro‘oc.bl-) c;Q«..cK
\

Sle vabe i

..... by

kT p anisds Lodel
behioe Qe | Ho‘q;(" oy ore gy
ofinid wle  of PZ""(] .................................. [3.]

(e) Write an operationalised non-directional (two-tailed) hypothesis for Penny’s experiment.
Ao aen-dlireckord  Lojoolesic  pioy be ok
N perr b @b ipe et (U shore BR2ERIA
R
((;%Q becwse L s a gorl oainds, e

T ooy,

12

o To record ‘sharing’ or ‘fighting’
is an identification of a simple
way to operationalise sharing
into nominal categories, so earns
1 mark.

Mark for (a) = 1 out of 2

9 The first point about animals
being used to having more meals
a day is just sufficient to identify
an ethical problem. The same
basic point is made in a less
clear way with the idea that this
restrains the animals’ basic needs.
As this is less detailed than the
first point, it cannot be credited
as an explanation, so just 1 mark
here.

Mark for (b) = 1 out of 2

e This response is not answering
the question. In fact, it implies that
the housing of parrots is not an
ethical issue as it is similar to the
way they are usually kept. Simply
because this is ‘not a natural
environment’ does not justify why
it is unethical, so 0 marks.

Mark for (c) = 0 out of 1

e This response makes a generic
point about participants being
unaware that they are being
observed in a covert observation
which reduces bias. This is then
explained in this situation: that the
animals may behave differently,
being ‘shy animals’ (accepted
as a description, ignoring the
potentially anthropomorphic
nature of the statement) or that
they may be afraid of Penny.
Mark for (d) = 3 out of 3

e This attempt at a hypothesis
does not have both levels of the
IV and is directional, so earns no
credit.

Mark for (e) = 0 out of 2

Total mark awarded =
5 out of 10
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How the candidate could have improved their answer

(a) The candidate needed to operationalise their chosen measure of the dependent variable. In this case, being a
nominal categorisation, the simplest way to earn the second mark would be to define ‘sharing’ and ‘fighting’, e.g. to
say ‘sharing’ is when both animals eat any amount of food etc.

(b) This response needed to answer the question and explain why their suggested ethical issue was potentially
problematic. The initial point was very brief, so additions could have been about hunger being unpleasant for the
animals, or that this may make them more aggressive so they may be injured. Alternatively, reference could have been
made to an ethical guideline for animals such as to avoid ‘pain and distress’, which could have been related to either
of these ideas.

(c) The response to this question needed to explore why it was less ethical for parrots than cats, not the reverse.

To argue that housing was ‘not natural’ was inappropriate. Good animal housing does not have to be ‘natural’ to be
adequate or even excellent, it simply has to provide effectively for the animal’s needs (e.g. in terms of security, warmth
etc).

(d) This attempt at writing a hypothesis began with the irrelevancy of rewriting part of the question. This is unhelpful,
especially here where the key words are already written above the answer space and importantly uses up time. The
candidate needed to include both levels of the independent variable (rather than just mentioning ‘parrots’) and say
there would be a difference between them in terms of the dependent variable (of sharing food as stated). However, the
variable of ‘sharing food’ also needed to be operationalised, i.e. the candidate needed to refer to how this would be
measured.
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Example Candidate Response — low

8 Pennyis using cats and parrots in her expefiment. Penny houses each animaf alone and only
gives them their daily f6od every evenin HeM§ She thinks
that parrots will share food because they are social animals whereas cats live on their own. To test

this, two animals of the same species are put together with a small bow! of food every afterncon.

(a) Penny's dependent variable is whether the animals share the food.

Suggest how she could operationalise this dep'endent variable.

S —eesRS —ohbsseve. dhels..

e 95(13[21

(b) Explain why the timing for the animals’ daily feed is a potential ethical issue.

AnmefS. 0eef L AQ ook eSS A0SR ONES... 0. A0 6. SO s
eoch.... ononel.. Des. . QY FETEM L. HeROS -2 SpameR—r Tou .

s:e:}.....h.o,.&..‘..c:-;):emq&......egirm% AeedS.. ANAn..0
P@:ﬂ:\-. [2

{c) Explain why the housing of the parrots was less ethical than the housing of the cats.
..... Be QQ\)SQ.....PQSKDXS....C.Y&...nﬂ’&....U.S.\;.Q&Q.r/.....C\?.Qne.....im...ﬁhﬁ::...nﬁ.\&tgﬁ‘....g
hebivet.. GoS..ore. ot e e, Mg Sn AN QR [1]
(d) Penny has decided that she will be a covert observer.

Suggest why she chose to be a covert observer in her study.

Decnuns. . ek ey She.. ConSAn &
35N TSET UL N SOOI W § o VI
AT R ahe. SRR A0 SVER. ORI EVANEN... O0ImRs
cx:xﬂcsbam'm}ccmm\oqhev%’mm*hmy\umm
dask L‘\*?QQJP. ) i3]

73 Penny ool “Lse & SiroRioted  coverd
obseovadon  Prrough @ one- Wway  telerer
1o obsewve canmmS sy ehavious 0
{e) Write an opera’uonahsed non-dxrectlonal (two-tailed) hypothesis for Penny's experiment.
...... Ammc&sw e T NSNS VS SE - . ot
Ao s ool Socte. bowe... o 24heess. . net....Shese.. 9

2

Examiner comments

Mark for (a) = 0 out of 2

0 This response begins well,
identifying a potential ethical issue
that some animals may need to
eat more than once a day, but this
is not explained, so just 1 mark.
Mark for (b) = 1 out of 2

e This response uses the
information from the question
stem to identify why the situation
is less ethical for parrots, so earns
1 mark.

Mark for (c) = 1 out of 1

e The first mark is earned for
relating the nature of covert
observation to this study (that
Penny could not, therefore,
influence the animals’ behaviour).
A second point is made about this
ensuring that the animals would
be focused on the task (eating/
sharing) rather than on her. As
‘the task’ is not specified, this is a
generic point but one generic point
is allowed in the mark scheme so
this earns a total of 2 marks.

o This answer does not identify
a way to operationalise the
dependent variable; it offers
procedural details so cannot earn
marks.

Mark for (d) = 2 out of 3

e This is a non-directional
hypothesis, so earns a mark
but only one of the variables is
operationalised so it cannot earn
both marks.

Mark for (e) = 1 out of 2

Total mark awarded =
5 out of 10
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How the candidate could have improved their answer

(a) The dependent variable needed to be identified in a way that could be measured, such as how much food each
animal eats. The details given by this candidate could then have counted as appropriate elaboration of how this could
have been measured, thus making the response worth 2 marks.

(b) This response needed some explanation, such as suggesting why the differences in feeding needs would have
been problematic, such as if some of the animals were distressed by being hungry or were in pain if their hunger led to
fighting and injury.

(c) Athird point was needed, which was also linked to the stem. This could have been an extension of either idea,
such as how she might have influenced them (e.g. they might hide from her if they were frightened or run to her if they
recognised her).

(d) The second variable (the independent variable of animal species) also needed to be operationalised. This could
have been done simply by beginning with ‘Cats or parrots’ in place of ‘animals’.

Common mistakes candidates made in this question

(a) Although many candidates identified a way to operationalise, few gave the necessary details of how this could
achieve a measurement of sharing. This was essential to earning both marks.

(b) Candidates needed to think about the ethical guidelines for using ‘animals’. The relevant one here was ‘pain and
distress’. From this starting point, they could then have used the ideas they had about hunger, discomfort, increased
aggression etc. to answer the question.

(c) Repeating the content of the stem was not enough to earn credit. It may be possible to use that information to
create an answer, but this would need to be explained or elaborated for full marks.

(d) This was a 3 marks question and ended with ‘in her study’. This meant that the response should have been
detailed and linked to the study described in the question. This often was not the case.

(e) Not all candidates were able to structure an experimental hypothesis in terms of ‘a difference between the two
levels of the independent variable in terms of the dependent variable’ so were unable to earn any marks. A second
mistake was to operationalise only one of the two variables, thus only 1 of the 2 marks could be earned.
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Question 9

Example Candidate Response — high

Examiner comments

9 * Doh and Pinja are planning to"test whether older or younger people lose their way more often,
even when using a map. They will time how long it takes each participant to find their way between
two places in their university, using a map. They are taiking about how to find participants and
how to start the study. They often see older people returning from the shops in the morning and
younger people after school in the evening.. ' ’

(a) Don wants.to tell every participant where they are on the map at the start of the test.

Explain why this would be-important.

Zhiz . woutd be important to AU oiel pacticlpantvariables, g oomple . some

PS5 may sle=ady  paow Felr focatton w//%auf-bcl‘/\j rold, attecting fheie Fravc] 0

"9""%’ \irg rhem (—Le}r location, therz will e =55 '/gor{—ic?/gcm /»nper«‘ablz.s 4 2

(b) Pinja says they should test all the participants at midday rather. than testing them whenever
they see them.

Explain why this would be important.

vaceble. for ample, o fuman’s ability vo follow direriTors on a map may bz

Selarert borween cHenti ancd mopirs. By Festing eyecyone at fhe ame Hime

o midlay,He confounding varickse ot 1oz wesldh be ellminated, 2]

(c) 'ldentify two participant.variables, other than.age; and suggest how these could:be controlied
in this éxperiment.

1.0 packzigont yariable wodlel be pongler, Rore oy be sittcances n o matess
/ o o /

covldd be controllecl by Uiis, the sém= rumbir of femele /ale older anst

youngcr paricpants .

2 MM&"’,” a/ﬁ'h;kd"* ' vaccakble M"'IA b= M /%C- unlvers :‘D/ /7(4/ p&r/‘f‘ﬁrlﬂg

atrersted; Z¢P% stodied gll-ar the YNWerlry yihere He study. rales plocs, ey

by vsirg a_shoresuriey fo see 1 Pls griendid he griversity grel /iminGHe shast fml‘[4]

d;al,‘['rom He ;'wely.

ﬂ The first mark is for explaining
the problem with participant
variables and the second for
explaining the impact this would
have on the experiment, i.e.
affecting the measure of the
dependent variable, travel time.
Mark for (a) = 2 out of 2

e Here, the candidate identifies
another extraneous variable, that
navigational ability might vary over
the day, and continues to explain
how this procedure eliminates the
variable for the second mark.

Mark for (b) = 2 out of 2

e Here the variable of gender
is identified and later in the
response, the candidate
effectively describes how this
could be controlled, by using
equal numbers of each gender.

For their second point, they
identify the variable of where the
participant studied, and controls
this by surveying potential
participants and ensuring those
chosen all have comparable
previous knowledge. They have
therefore fully answered the
question and score full marks.
Mark for (c) = 4 out of 4

Total mark awarded =
8 out of 8

How the candidate could have improved their answer

Even though this answer scored full marks on each part, it is noteworthy that they gave more information than was
required in part (c). Having identified their variable (e.g. ‘gender’) the candidate went on to explain why this variable
could need controlling. This illustrated their understanding of the scenario, and could indeed have been the answer to
a question but, on this occasion, it contributed to neither the ‘identification’ required nor to the suggestion of a way to

control the variable, so could have been omitted to save time.
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Example Candidate Response — middle Examiner comments

9

Don and: Pinj’a; ai'e"plarining to test whethefolder or younger people: losé their way ‘more often,
even when.using a:map. They will time how long it takes each participant to find their way between
two places in. their university, using’a map. They are talking about How to find participants and
how to start the study. They often see older people returning from:the shops in the morning and

youinger people‘a'fter‘schbol in the evening.. '

(a) Don wants to tell every participant where they are on the map at the start of the test.

Explain why this would be important.

Thid_ wovld. sl the RXPLFMLN: and..mage
UCL ) PATHGQANL. beg10...L00ui0g. 3t Same. D
WALLMAH0.0, T 30C r(’\au&r aiud ;‘k_y_{)%c{z.%ﬂr’[}.\).ﬂl..
%&QWW&WWHI\W\Q@&&&W\SWO o)

(b) Pinija says they should test all the participants at midday rather than testing them whenever
they see them. - -

Explain why this would be important.

..jh:u.....m£r..z[LJ.JZJ.....r.{.\.\.a;pﬂ;\.w b LU DL XTI
A0S0 LN SR (.ot e e il Of. 4. Jperifie
S, G AL 0w A RAQL et 0.0t

I‘{,QHCQ/H'?@ , 2]

(c) Identify two participant variables, other than age, and suggest how. these could be controlled
in.this experiment.

1. SO QACACIQUNE.. M0 B NOLL. £4MILL.......
W e COm UL oD 0L, Bk Thest .
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2. 808 PALA UGANL MUY bt MULL VELL 41 VIR
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0 The candidate earns 1 mark
for the idea that the procedure
ensures all participants begin
‘knowing the same’, i.e. are
starting from a standardised
baseline.

Mark for (a) = 1 out of 2

e This is just enough for 1 mark,
as it is an explanation of the
idea that this standardises the
procedure.
Mark for (b) = 1 out of 2

@ The first point identifies
familiarity with the campus as a
variable and controls it effectively
by taking people from different
areas in the sample. Likewise,
the second point identifies map
use as variable, and controls it
by ensuring that frequent and
nonfrequent users are equally
represented. This earns full
marks.

Mark for (c) = 4 out of 4

27
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Example Candidate Response — middle, continued Examiner comments

Q1d__| VAriakles
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Total mark awarded =
6 out of 8

How the candidate could have improved their answer

(a) This response needed further explanation. For example, the candidate incorrectly identified the problem as one
of validity. In fact, the point they made was one of reliability and recognising this would have enabled them to explain
this.

(b) This was a vague point about standardisation. It needed to be clearer so that it could be elaborated upon
effectively. The candidate could have explained why varying the time of day could have been problematic, for
example, by suggesting what differences may have occurred during the day that made walking or navigating easier or
more difficult.

(c) This was a clear answer which was more concise than the answer to (b) above which had additional, unnecessary,
content.
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Example Candidate Response — low

9. Don and Pinja are ‘planning to test whether older or younger people lose their way more often,
even when using a map. They will time how long it takes each participant to find their way between
two places in their university, using a map: They are talking about how fo: find participants and
how to start the study. They often see older people returning from the shops in the morning and
younger people after school in.the evening. .

(a) Don wants to tell.every participant where they are on the map.at the start of the test.

Explain. why this would be important.

RN Shed. Vanis). Wrgse.. e heacked Szom

(b) Pinja says they should test all the participants at midday rather than testing them whenever
" they see them.

Explain why this would be important

oot e &wf

(c) ldentify two participant véﬁéﬁiés, other than age, and suggest how these could be controlied
in this experlment

{4]

Example Candidate Responses — Paper 2

Examiner comments

ﬂ Although this sounds
convincing, the response lacks
the key element of this being
standardised. The participants
are not simply being given
information, they are all being
given the same information for a
purpose; so that they all have the
same knowledge about where
they are. This element is missing
from this response, so it does not
score a mark.

Mark for (a) = 0 out of 2

e This procedure does not affect
the generalisability of the results,
so this response is irrelevant and
does not earn credit.

Mark for (b) = 0 out of 2

e An appropriate participant
variable has been identified
(eyesight). The candidate then
begins to offer a way to control
this, by asking about their vision.
However, simply by knowing
about individual differences the
experimenter does not solve the
problem. The candidate does not
offer a second variable.

Mark for (c) = 1 out of 4

Total mark awarded =
1 out of 8
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How the candidate could have improved their answer

(a) For this response to earn credit, the candidate needed to explain why knowing ‘where they’re headed from’
was important i.e. to include the idea that it achieves standardisation of the participants’ experience so they all
start from a shared baseline knowledge. This could have been presented as the reverse argument, that it would
lack standardisation of some participants who knew where they were to start off with as they would be quicker than
those who did not.

(b) This response misused the term ‘generalisable’. It was better to avoid terms and describe the problem than to
use terms incorrectly. If the candidate had explored the idea of what ‘outside factors’ that affect travel time could
have affected the participants, they could have found suitable ideas such as ‘how busy it was’ or ‘whether they can
see clearly to navigate’. These would have opened up the possibility of a full mark answer.

(c) Here the response included an appropriate variable and the candidate embarked on the start of an answer
about how this could be controlled, but did not complete this. After discovering whether participants have good
eyesight or not, this then needed to be controlled for i.e. there needed to be some action based on this information.
The candidate could have suggested including participants with a range of visual abilities, or asking participants
with poor eyesight to wear their glasses for example.

Common mistakes candidates made in this question

(a) Candidates often gave too little information, identifying only that the participants needed to be informed, rather
than explaining why this was necessary in any detail.

(b) Again, candidates gave too little detail. Although possible ideas included some very simple suggestions (such
as it being brighter/darker making navigation easier/more difficult) many did not come up with their own ideas. It is
important that candidates are encouraged to develop ideas for themselves in response to practical designs. Note
that the syllabus says ‘apply knowledge of ... to a novel research situation’ for a selection of different aspects of
research methodology. Candidates should be encouraged to practise this skill.

(c) Candidates often suggested suitable variables and gave details about why these would be a problem, without
offering solutions for controlling these variables.
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Question 10

Example Candidate Response — high Examiner comments

Section C

Answer all questions in this section.

10 Fajar has noticed that some-of the younger children in her school bélieve theif toys have feelings
but the older children generally do not. She wants to find out more about what children believe
and when beliefs change. She is planning to use a questionnaire.

(a) Describe how Fajar could conduct a study using a questionnaire to find. out about the

children’s beliefs.
blha ;. the. &m\ oﬁhc ey .. erch . s, beht&t gl {035 felngs

mkmtw WLOQ be Bowur\ [t wll Gutraﬁl foke. 1y %é
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bﬁ%\iwwﬂ\m ¢ C@M&S\v\m home.

........

Queshonnode.;. 5. uestons.,. 00 g lve. e }oga do ihtg g)d ad 2,0 Hey.
o . hgppg....mh@é—éc 40 ﬂ\ty) like..1o.plaw”. 40, gouwr toys s yax!

Inkrvigen 3 queslion, o g oy has koligs.”. R -

0 Here the candidate says how
they will be collecting their data
with the questionnaire i.e. with
closed questions that have fixed
responses. They continue later
to say how the questionnaire will
be administered. This gives good
detail for ‘how’ the questionnaire
will be used.

The response also includes minor
details of when and where the
research will take place.

e Here the response includes
details of how ‘younger’ and
‘older’ will be operationalised and
how the sample will be collected.
This is a good level of detail for
‘who’ will be used as participants.

e The response indicates good
ethical awareness, including
the need for parents to be given
the chance to consent as the
children are young, followed by a
consideration of debriefing.

o The suggested questions
tackle the given issue, whether
the participants believe their
toys have feelings. A selection of
appropriate questions is offered
which explores this in different
ways.

e Overall, this response includes
all three major elements in detail,
has the minor element and
appropriate reference to ethics.
The use of terminology is accurate
and the study would be replicable.
This places the response towards
the top of level 3.

Mark for (a) = 9 out of 10
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Example Candidate Response - high, continued Examiner comments

(b) identify one weaknesslimitation with. the. proceduré 'you have described in your answer to G One weakness is identified
part (a) and suggest how your study might be done. dlfferently {o overcome the problem (effect of social desirability) and

this is explained in generic terms.
There is then an explanation

of how it could be overcome

but this relates to the interview

YM\g) : ! l mﬂ@‘ .. o Q M*ELWMNW TOOW | ratherthan the questionnaire

which was the focus of the

s o 1S shawll b obsved. (MI’(U)\CNMM\ dezner) whuly, Mlahe) question. Nevertheless, the
I (‘ﬂmﬂo a b wath o RS i in order fo Oxwt point being made does apply to

"""""""""" questionnaires, so earns some
vk hawadr omasers - credit, giving 3 marks rather
.......... s [4] Mal’k fOI’ (b) = 3 Out 0f4

than 4.

Total mark awarded =
12 out of 14

How the candidate could have improved their answer

(a) The candidate did not quite follow the rubric as they had included an interview as well as a questionnaire. This
was unnecessary detail. In the final part of this response, the candidate contradicted themselves, giving the prompt
‘elaborate’ in their questioning, when they had stated that they would be asking closed questions.

(b) As a result of incorrectly including an interview in their answer to part (a), the response to part (b), although sound
in terms of psychology, was only partially relevant. It was essential to focus on the research method required when
one was stated in the question.
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Example Candidate Response — middle Examiner comments

Section C

Answer all questions in this section.

10 Fajar has noticed that some of the younger children in her school believe their toys have feelings
but the older children generally do not. She wants to find out more about what chlldren believe
and when beliefs ¢hange. She is planning to use a questionnaire.

0 The candidate identifies
(a) Describe how Fajar could conduct a study using a questionnaire to find out about the the ‘who’ element of the study
children's beliefs. . . ’
) : 5 operationalising the ages between
. Bt urnld.colleck. poviicigentd.of. Aiferentage. , eehueen #A).€)) | 5 and 10. They also specify that
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"""" which gives additional detail. This
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Example Candidate Response — middle, continued Examiner comments

(b) Identify one weakness/limitation with.the procedure you have described in your answer to
part (@) and suggest how your study might be done differently to overcome the problem.

DeeEHON. 00 VB Ab.fre.. students. Wt A0l AL, sk,
Gsoammu\—mam@momswmwxm%io%Thxﬁpmm‘m
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...... 4]

o The candidate raises an
appropriate ethical issue relating
specifically to the procedure they
have designed. They suggested a
solution, but are unable to justify
this satisfactorily, so they earn 2
marks.

Mark for (b) = 2 out of 4

Total mark awarded =
7 out of 14

How the candidate could have improved their answer

(a) The candidate produced an interesting design for a study, using a questionnaire to collect the data thus satisfying
the requirements of the question. The detail of how the questionnaire collects the specific data required was not
however, entirely clear. The candidate needed to elaborate at the end about how the questionnaire would measure
whether the ‘...children feel offended or upset when their favourite toy is being abused’. In addition, it would have been
difficult for this candidate to earn full marks as they would potentially find fulfilling the ethical criteria required for a top

scoring answer difficult with this design.

(b) The candidate dismissed the idea of demand characteristics but in fact this could have provided them with a better
answer. For example, the response could have suggested that the children could have worked out the aim of this
study from the enactment by the stooge, and changed their responses to the final questions; perhaps because they

felt embarrassed if they were upset by the abuse of the toy.
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Example Candidate Response — low

Section C
Answer all questions in this section.
10 Fajar has noticed that some of the younger childfen in her school believe their foys have feelings

but the older children generally do not. She wanis to find out more about what children believe
and when beliefs change. She is planning to.use a guestionnaire.

(a) Describe how Fajar could conduct a study using a questionnaire to find out about the
children’s beliefs.
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(b). identify one weakness/limitation with the procedure you have described in your answer to
part {a) and suggest how your study might be done differently to overcome the problem.
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Examiner comments

0 The response starts well with
some appropriate questions,
giving a detailed indication

of ‘how’ the study would be
conducted.

e The response includes an
appropriate way to collect data on
the children’s ages so satisfies the
‘who’ element at a basic level.
Mark for (a) = 4 out of 10

e This is a generic and vague
answer that does not relate
directly to the study designed in
part (a) so cannot earn credit.
Mark for (b) = 0 out of 4

Total mark awarded =
4 out of 14
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How the candidate could have improved their answer

(a) To improve the ‘who’ element of the response, the candidate could have included how the sample could be
obtained and other details about them such as genders, where from etc. Apart from the examples of questions, there
was no specific information about the nature of the questionnaire, such as whether it would consist of open or closed
questions or both, or how it would be administered. This meant that the response could not exceed 4 marks. To
improve on this, the candidate needed to include this element to give them access to the next marking band.

(b) Some of the ideas mentioned in this response could have been made relevant to the response from part (a),
making them potentially creditworthy. For example, if the response in (a) gave details of where the sample had been
taken from, a judgment could have been given in (b) with specific comments about why it was not generalisable in
respect of the children’s likely beliefs.

Common mistakes candidates made in this question

(a) Candidates should design their study using the method stated in the question if there is one. A number of
candidates did not do this. Also, as the final candidate above had done, there was a tendency to include justification or
evaluation in the design of the study. This is not necessary and does not earn credit.

(b) Many candidates gave generic or superficial answers to this part of the question. Candidates should specifically
review the procedure of the study they have designed.
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